Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

BUNIT A
| N
87.9 +0.8 1
B4.1£0.5 10.75 £0.3
M3X0. 5
on] o I i
|
D) \ 6.5 £0.3
= @ 7.35+£0.3
M2, 5X0. 45 \S\ —— )
T %,
— 6
I35 © N3X0. 5 Qo E |
N3X0. HX4 @ @ 13X0.5
( GROUND )
C ) I i%
1 | | l | %
6 |PBT BLACK, UL94V-0 12 | STEEL NICKEL PLATING M3X0. 5
5 | STAINLESS STEEL 11 | STEEL NICKEL PLATING
4 | STAINLESS STEEL 10 | PBT BLACK. UL94V-0
3 | PHOSPHOR BRONZE  |NICKEL PLATING g | STEEL NICKEL PLATING M3X0.5
2 | STAINLESS STEEL 8 | STAINLESS STEEL
NOTE 1. THE RECOMMENDED TIGHTENING TORQUE OF CAVER AND GROUND TO BE 0.315%0.06 N - m. 1 | ALUMINUM ALLOY ~ [UNDER NICKEL PLATING + CHROME PLATING | 7 [ ALUNINUM ALLOY  |UNDER NICKEL PLATING -+ CHROME PLATING
THE RECOMMENDED TIGHTENING TORQUE OF CLAMP TO BE 0.63%0.12N - m. NO. MATERIAL FINISH . REMARKS NO. MATERIAL FINISH . REMARKS
2. THE RECOMMENDED TIGHTENING TORQUE OF CODING KEY TO BE 0.180. 03N - m. UNITS @ = SCALE COUNT |  DESCRIPTION OF REVISIONS DESIGNED CHECKED DATE
[3> UNIT A T0 BE ASSEMBLED TO FEMALE HOUSING D FOR FIG. 1 mm RN
4. CODING KEY, AVAILABLE SEPARATELY, SHALL BE ATTACHED TO THIS PRODUCT AFTER ASSEMBLY. APPROVED +NM. NTSHIMATSU 15. 04. 28 | DRAWING EDC-128055-00-00
ms HIROSE = fcueckeo «NM. NISHIMATSU 15. 04 28 [o3RT TI50A-41S-D-CV
EBEC[%C DESIGNED :MO. SHIMOYAMA 15. 04. 28 |_NO.
U7 [orawWN MO, SHIMOYAMA 15, 04,28 | "N CL236-3102-3-00 N
FORM HCOO11-5-7 1 2 3 4 5 \ 6 \ 7 \ 8




Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

BIUNIT B

So

7,
e U

S
oI
= L |
e i Sp—®
6\ M3X0, 5
( CROSS RECESSED NEED SCREWS WITH CAPTIVE WASHER)
r_Jj l%l ) ||l
DRAWING EDC-128055-00-00
]-RS "o, TJ50A-415-D-CV
“No. CL236-3102-3-00 |A\

FORM HCOO11-5-8 ] 2 3 4 5 6 \ 7 \ 8



Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 4 5 6 7
BFEMALE HOUSING D CATTACHED PARTS)
| 67.1£0.3
| 63. 5 £0.3 ‘ i
+m\
1LEL T WL 0L BE B £ 9 S E 27T A A
T —
. S| ¥ CONTACT No. 1
Z Sl E N 0,2 O
2.5 £0.2 | | P=AhE02 ° 010
% o
o Qo
° /(o

| 4 40 39 38 37 36 35 34 33 32 N 30 29 28

—

O ‘ P= 4.5 0.2
I
@ 58,5 +0.2

N
Olﬂ),o

\

CABLE ENTRY
IDENTIFICATION MARK

[3>FI6.1 ASSEMBLY DRAWING (1:2)

BICLAMP METAL CATTACHED PARTS)

4,5 0.3

Fé‘:(\

BSCREW FOR CLAMP METAL CATTACHED PARTS) .
( CROSS RECESSED NEED SCREWS WITH CAPTIV )

M3X0.5

(10)

H
~ DRAWING EDC-128055-00-00
]-RS "o, TJ50A-415-D-CV
R, CL236-3102-3-00

FORM HCOO11-5-8 ] 2 3 4 5 6 \ 7 \ 8



Jul.1.2019 Copyright 2019 HIROSE ELECTRIC CO., LTD. All Rights Reserved.
In case of consideration for using Automotive equipment / device which demand high reliability, kindly contact our sales window correspondents.

1 2 3 4 5 6 1 \ 8
GROUND SLIDE BUTTON ONIT B
= TN
-
H | - @
sl <—E=ay ] s
mi 1: —| &
- /$/ - THREADED PORTLON
g \) O T © @/' CLAVP WETAL @
;,q - O ATTACH THE CLAWP WETAL 0 UNIT A TO FIX THE CABLES.
Z THE RECOUNENDED TIGHTENING TORQUE OF CLANP TO BE 0. 630, 12N - .
© DEEPLY INSERT REQUIRED NUMBER OF CRIMPED CONTACT, @/ MAKE SURE THAT THE SLIDE BUTTON IS POSITIONED AS SHOWN IN THE FIGURE ABOVE.

WHICH IS SEPARATELY AVAILABLE AND CRIMPED BY SPECIAL
CRIMPING TOOL, TO MALE HOUSING D.
REFER TO ATAT-E3050 FOR CRIMPING QUALITY STANDARDS.

UNIT A
|- LA -
(o] O© :
0
°© ° 90 o <—| -
.
- ;
—% © o

IDENTIFICATION MARK

@ PUT MALE HOUSING D WITH CONTACTS TO UNIT A AS THE IDENTIFICATION MARK IS VISIBLE.
CREVERSED ASSEMBLY IS STRUCTURALLY PREVENTED.)

== —

= —

@ TIGHTEN THE PLUG WITH COADING KEY, SEPARATELY AVAILBALE.

WHEN COVER WITH UNIT B AND FASTEN WITH SCREWS AT 3 POINTS. CA RECOMMEND TORQUE FOR SCREW 0.3150. 06N - m )

<GROUND SANNECTION>

WHEN 6 WITH CLAMP METAL. WRAP THE SHELDED MESH WITH COPPER TAPE AND FIX THEM WITH CLAMP METAL.
IF CLAMP ESN' T TOUCH COPPER TAPE DEPENDING ON THE NUMBER OF CABLE AND ITS STYLE

ADJUST THI [TH VINYL TAPE, COPPER TAPE AND SUCH.

WHEN' GROUNDING WI AL ROUND TERMINAL, FASTEN CRIMPED ROUND TERMINAL AT ERATH WIRE CONNECTION AREA WITH M3 SCREW.

(A RECOMMEND TORQUE F S}Q\D. 315£0. 06N - n D
&

@

XREFER TO ATAD-E3051 FOR ASSEMBLY.

DRATNG EDC-128055-00-00

(A RECOMMEND TORQUE FOR SCREW 0.18=0.03N - nm )

]-RS "o, TJ50A-415-D-CV

“No. CL236-3102-3-00

FORM HC0011-5-8 | 2 3

5 6 ! 7 ! 8




OCEAN CHIPS

OxreaH INeKTPOHMUKM
MocTaBKa 3ﬂeKTp0HHbIX KOMMOHEHTOB

Komnanusa «OkeaH DNEKTPOHMKM> MpEeAaraeT 3aK/Il04EHUE JONTOCPOYHbIX OTHOLLIEHMM NpU
MOCTaBKaX MMMOPTHbIX 3/1EKTPOHHbIX KOMMOHEHTOB HA B3aMMOBbIrOZHbIX YC10BMAX!

Hawwu npeumyliectsa:

- NlocTaBKa OpMrMHaIbHbIX UMMNOPTHbBIX 3/IEKTPOHHbIX KOMMOHEHTOB HanNpAMYy C NPOM3BOACTB AMEPUKM,
EBponbl M A3uK, a TaK e C KpYNHEMLIMX CKIaJ0B MMPa;

- LUnMpoKas sMHeMKa NOCTaBOK aKTUBHBIX M MACCMBHBIX MMMOPTHbBIX 3/1EKTPOHHbIX KOMMOHEHTOB (6onee
30 MJIH. HAMMEHOBAHUMN);

- MocTaBKa C/IOXKHbIX, AeDUUMUTHBIX, IM60 CHATLIX C NPOM3BOACTBA NO3ULMIA;

- OnepaTMBHbIE CPOKM NOCTABKM NOA 3aKa3 (0T 5 paboumx AHEN);

- JKCnpecc JoCTaBKa B 06YH0 TOYKY Poccuu;

- Momouwb KoHcTpyKTOpCKOro OTAena 1 KOHCynbTauumu KBaMPULUUPOBAHHBIX MHXEHEPOB;

- TexHM4ecKaa nogaepkka NpoeKTa, NomMollb B NoA6ope aHanoros, NocTaBka NPOTOTUNOB;

- [locTaBKa 3/1EKTPOHHbIX KOMMOHEHTOB NoJ, KOHTposiem BIT;

- CUcTeMa MeHeaXXMeHTa KayecTBa cepTudmumpoBaHa no MexayHapogHomy ctaHgapTy 1SO 9001;

- Mp1 HEO06XOAMMOCTH BCA NPOAYKLUMA BOEHHOIO M adPOKOCMMYECKOrO Ha3HaYeHMA NPOXoAUT

MCMbITaHMA M CEPTUMhMKALMIO B TaGOPATOPMM (MO COrIACOBAHMIO C 3aKa34YMKOM);
- MocTaBKa cneumanusmMpoBaHHbIX KOMMOHEHTOB BOEHHOMO M a3POKOCMMYECKOr0 YPOBHSA KayecTBa

(Xilinx, Altera, Analog Devices, Intersil, Interpoint, Microsemi, Actel, Aeroflex, Peregrine, VPT, Syfer,
Eurofarad, Texas Instruments, MS Kennedy, Miteq, Cobham, E2V, MA-COM, Hittite, Mini-Circuits,
General Dynamics u gp.);

KomnaHua «OkeaH JNEeKTPOHMKKU» ABNAETCA oduuMabHbIM AUCTPUOLIOTOPOM M SKCKJIHO3MBHbBIM
npesctasuteneM B Poccum ofHOrO M3  KpPYMHEMWMX MPOM3BOAMUTENIEM Pa3beEMOB BOEHHOMO W
A3pPOKOCMMYECKOro Ha3sHavyeHuMs <«JONHON», a Tak Xe oduuMaibHbiIM AUCTPUOBIOTOPOM MU
JKCK/II03MBHbIM nNpeacTaBuTenieM B Poccvn npousBoauTENA BbICOKOTEXHOIOMMYHBIX M HaAEXHbIX
peweHun ans nepeaaym CBY curHano «FORSTAR>.

«JONHON> (ocHosaH B 1970 T.)

PasbeMbl crneumanbHOro, BOEHHOMo M A3POKOCMHNYECKOIo
Ha3Ha4YeHHA:

JONHON (MpuMeHsOTCA B BOEHHOM, aBMALMOHHOM, a3POKOCMMYECKOM,

MOPCKOM, KeNe3HOAOPOXKHOM, TOpHO- M HedTeao6biBatoLLeN
0Tpac/AX NPOMbILLIEHHOCTH)

«FORSTAR> (ocHoBaH B 1998 r.)

BY coegmHmnTENN, KOAKCHaNbHbIE Kabenn

’ ) ®
KabenbHble COOPKM M MMKPOBONIHOBbIE KOMMOHEHTbI: FORS 'AR
L

(MpuMeHsaTCA B TEJIEKOMMYHMKAUMAX  FPaXXAaHCKOro M
cneuManbHOrO HasHayeHus, B cpeacTBax cBA3sM, PJIC, a TaK xe
BOEHHOM,  aBMALUMOHHOM M AdPOKOCMMYECKOM  OTpacisx
NPOMBILLNIEHHOCTH).

TenedoH: 8 (812) 309-75-97 (MHOroKaHasbHbIN)

dakc: 8 (812) 320-03-32

DNIeKTpPOHHas noyTa: ocean@oceanchips.ru

Web: http://oceanchips.ru/

Appec: 198099, r. CaHkT-leTepbypr, yn. KananHuHa, 4. 2, Kopn. 4, amT. A




